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Answer any five questions.
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What do you understand by Production possibility
curve ? How.does it help in explaining the central
problems of an economy? Also show the effect of

economic growth on this curve.
What is the equili‘brium market price and quantity if
demand and supply functions are as follows :

Demand Q= 50 —.0.59

/_S‘up'ply : Q=-10 + P 10,5
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Discuss price control. Explain the consequences of

effective price floor and price ceiling.

Given a straight line downward sloping demand curve,
show that price elasticity of demand varies from zero

to infinity. 10,5
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Descfif)e the decomposition of price ‘effect into income
effectfand substitution effect with the help of indifference
curve analysis, when price of a normal commodity

decrease. Use suitable. diagram.

Explain the indifference curve when :

() goods x and y are perfect substitutes.

(i) goods x and y are perfect complementary. 105
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Explain Producer’s equilibrium with the help of I§o—quant

curve and Iso-cost line.

Distinguish between returns to a factor and returns to

scale. ; : 10,5
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At every level of output, calculate Total Fixed Cost
(TFC), Average Fixed Cost (AFC), Average Variable Cost

(AVC) and Marginal Cost (MC), from the given schedule

at each level of output :

Output : ‘Total Cost
0 : 50
1 80
2 ' 90
3 9%
4 102

5 120
Explain the derivation of L long run average cost curve

from short run average cost curves. : 96
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Explain the equilibrium of a firm under perfect

competition in the short run and long run. -

Explain allocative efficiency under perfect competition. 9,6
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Using suitable diagrams, explain long run supply curve for

an industry in competitive market in case of

(/)  decreasing cost industry

(if)  constant cost industry. Tea3T5
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Write notes on the following :

(a) ' Consumer surplus and producer surplus

(b) = Total expenditure method of price elasticity of demand

"(¢)  Price consumption curve. : 555

W@HWWW‘IA:

(1) SUdirT SAfsh dd1 ScAEen AR

(@) | H wHd G P A W g = fafy
(@) Fm S T | '



